bl

=

?ﬁ\‘l \\\?{r

R

NI
.“‘r

C PR %

ot FER Sl

N PEID L EE A
MECE 2 LA 5
i3

(2025 g2 Rt e g f | REFRFHEL 3§

REERREATHRE R T L E SRR
8438 5 (441 2025 AL KR EER € R JIFS > B
T T Y PETT Trey

17

E]i59 BOB 0%’??‘ "'ﬁﬁmf"ﬁ

- AR R R BERORPMER AFE o FEN
Fh L R AL N E A FR AR LS
Vo ,."?’:

S ERHERpM RS FEEHRLF S o
L RARET 2 RFEFEHEF AR -
L= gj’_ﬂgrrﬁtfi# °
TR E D RRLEHFIEIRNE > A B Z R (FAoT o
- ~BEEFOPPR #H 2 253 2 g udkk o
S RESSOEFR T o RP X TR RE RS L
S REHSFRAL ) FEZ v jGREEH -
=~ g h T RH L FOP p #5973 2 4444 o
I TR AF 2 A E E
= \]L%péngﬁg‘g{*;\.%gﬁpﬁ“q“&p%%fj;1 it o
= s ma L R PEE E o
KTV 7
(=) BAGEI2020FMrLAFEFTEFFBFERNMLZE L2
1 irEpF o

(=) BRI EREPF1iFeg 2 35ah M

=



(=) FFITRERFEH 2 2K
A ks

(v ) “EfERPdEF d sEfle e fiE 747

() FEmm: i

D Ao d £ 4
P AP EAed AT

¥ AV gL L

FEHE T RIREHE

P AR ORI R o

3 PR mEERE R

L
000 & 00" 00p (E#HO)
=R
08:00-08:30 T2 AP ARM T
gﬁ%ﬁffaﬁlﬁmm*
08:30-09:30
[ eF - m% KL
BEMET XS AL
09:30-11:00 ”‘% S ﬁ%
[fr : ¥ BERTER €]
B 4HRIIE R 5
11:00-11:20 f *
[ eF - m% KL
P
11:20-12:00 ‘ ﬁﬁﬁ ‘
S LY
12:00- SR




Hit (S

2025 AL AFRFHERFHRL I TR

B | B oAl P
1FpH(R¥K) | LKk g4 ik
% | (R4 '
Tde S 5
1| 54 i 5/24-5/29(6 =) | 25 3R A £ J
(F i % - 88 35)
E AN SN
2 | S 5/18-5/28(11 =) | 20 AR R & S
ow e i)
cVii A AL k(80 1)
5/17-5/24(8 =) | 120
(oA w JsH) X B¢ (40 )
3 | v i \
"R LB ¥ (45-50 1)
) 5/17-5/22(6 =) | 95 -
(b4 % - @b ) 4 - ¢ (45-50 1)
Kt P AF %ok b % (30-40 1)
4 5/18-5/23(7 =) | 50 ,
Ehe (A7 = F4R) ¥ 3 ¢ (10-20 i)
f L HRF B (B 25 12 1)
— T~ % L Lo,
(BLLesk 346 ~ F ‘ ¥
b 6%7 & | LA ¢ (Bl 2 & 12 *)
5 # i @3k 326 - | 5/18-5/29(10 %) ‘
7 A2 AER P (PR 20+ R
TR T B g
14,18 %)
¥1)
fod B
6 5/17-5/22(6 =) | 20 LA T B A8
& | @A 2pd B
23 TR~ F06 )
‘ 5/17-5/24(8 =) | 18 FrHETXEOG )
(B % Lt 3H) s
7| EE SR o )
HEBEX
5/22-5/29(8 =) | 10 hee &
(F % & 3k3F)
AT
8 | f2 5/26-5/29(4 =) | 20 RN ¢

(AL % -KiE 3)




B | F e P

1P ()| L& CERY
5| A (B F 5-4)
U TR WA
9 | by ) 5/16-5/23(7 =) | 20 ERER SR
(&M s RiE 3)
R LS=E5 5/17-5/22 ~ 5/25-
’ 20 TR

(E#m % kB F%) | 52911 =)

5/17-5/22 ~ 5/25- 2 L4 # (20 i)
10 | 3k ((z <~ ATREF 40
;) 5/29(11 =) ' FTL 8 (20 1)
R L = =Rr
, 5/12-5/21(5 =) | 15 B
(o7 W Frm g 3)
11 | A3 S 5/18-5/27(10 =) | 24 hPE L

A RIRRAE 539




